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I. Read the text. For questions 8-15, choose the answer (a, b, c or d) which you think fits best according to the text.

On 18 February 1995, Andrew Wilson failed to return to his car after a skiing weekend in the Scottish Highlands. Following a fruitless search, the mountain rescue teams felt that the game was up. It was nothing short of miraculous when at 10.30 a.m. on 21 February, Wilson stumbled down the mountainside. He was hypothermic and dehydrated - but otherwise he was more or less unharmed.
Rescue coordinator Graham Gibb said, “I have never found anyone alive on the fourth day of a rescue in these conditions.” Wilson overcame a simple problem: how to get himself to safety while conserving heat - heat that was being used up by the activity necessary to save his life. Wilson achieved this through common sense and a high level of fitness. Trapped by high winds and deep snow, he dug a snowhole. The following day he walked further before digging another snowhole for the night. It wasn't until the following morning, after 70 hours on the mountainside, that he was able to reach civilisation.
When things get dangerously chilly, intelligence and experience can make the difference between life and death. Death from hypothermia can occur only two hours after its onset. A major cause of hypothermia is dehydration. The blood thickens as it loses water, limiting the body's ability to keep warm - especially at the extremities like the hands and feet, where frostbite becomes a risk.
Sufficient food is also important. Our bodies carry reserves of fat, but making use of this resource takes time, and the body's internal temperature can fail to dangerous levels in the meantime. Mountaineers snack regularly on high-energy foods. Wilson probably survived because of the sandwiches and chocolate that he had brought with him to maintain his energy levels. 
Human beings must also maintain a constant body temperature. Even slight variations make the body less efficient. At temperatures below 28°C, an unclothed body loses more heat than it can produce. Another factor is evaporation. Even in cold climates we sweat, and cold air drawn into the lungs has to be warmed and moistened to 100 per cent humidity, a process that speeds up greatly at higher altitudes and can lead to dehydration.
However, the greatest threat in cold weather is convection. Air surrounding the skin is warmed by the body. The colder the air, the more the body has to heat it and more energy is used. If it is moving, the process must be continual. This is the principle of wind chill. Temperatures that are in still air pose little threat but can kill if increased by only a 20 mph wind. Rescuers calculated that the wind-chill factor, where Wilson was lost that weekend, made the temperatures equivalent to -32°C.
Hypothermia also increases the risk of frostbite. Victims are sometimes unaware of the danger until their fingers or toes have become totally numb. Skin turns blue and becomes very painful, and blisters appear on fingers, toes, the nose or ears. Long-term exposure will cause gangrene and the affected area may need to be amputated. Careful use of heat and antibiotics must be applied when treating frostbite to help re-establish the victim's circulation and respiration. Wilson was totally alone on that frozen, wind-blown mountain. The fact that he survived was the result of remarkable stamina and a lot of courage. Incredibly, he will be out on the mountains again this weekend.

1. The fact that Wilson survived his ordeal was
A) a usual occurrence  




B) due to his being found  

C) due to his treating it as a game  


D) an unusual occurrence

2. During his ordeal, Wilson managed to
A) save all his body heat 



B) create heat by building shelters
C) keep as much of his body heat as possible
D) stay warm by exercising

3. One cause of hypothermia is
A) not drinking sufficient liquid   


B) being cold for two hours 

C) getting frostbite 




D) trying too hard to keep warm

4. According to the writer, mountaineers should
A) have a lot of body fat 




B) frequently eat sugar-rich foods
C) take the time to check their body temperature 
D) have high blood pressure

5. At low temperatures, breathing may become inefficient due to
A) too much internal heat 



B) lack of perspiration 

C) lack of moisture in the body 


D) too much moisture in the air

6. What does "it" in the underlined sentence refer to?
A) the human body

B) the air

C) heat

D) cold

7. If it hadn't been windy when Wilson was lost,
A) he would definitely have died 


B) he would have perspired more
C) he would have been more likely to survive 

D) he would have been less likely to survive

8. People suffering from frostbite
A) can be easily treated 





B) should be made warmer quickly
C) may develop gangrene





D) usually feel nothing
II. Read the text. For questions 9-10, choose the answer (a, b, c or d) which you think fits best according to the text.

Space in the home
Thinking about the house as a whole, how each room relates to each other and the outside world and considering the requirements of those who dwell within are crucial in any space reorganization project. Space is dynamic rather than static. It is appreciated through movement, use, sound and light – all fundamental aspects which cannot be reduced to the empirical facts of the habitable floor area within the boundaries of the home.
There will always be the need for a balance between privacy and openness in any home – large communal areas for gathering in and small private areas to retreat into. It may seem an obvious point but in houses where every space runs into the other, life can become tiresome: sound is amplified, intimate conversations are virtually impossible and different activities set up competing areas of attention, whereas if all areas are uniformly modest in size, there is nowhere to make merry and entertain without feeling claustrophobic.

As well as variations in the dimensions and scale of rooms, there should also be places which delight and surprise. Alcoves and generous hallways may appear superfluous in a strictly functional sense but these are features which can be enjoyed precisely because they add a distinctive and often unexpected dimension to the utilisation of a given space.

9. For the writer

A) open plan designs generally achieve the optimum use of space;

B) space should be used to best accommodate different activities in a home;
C) size is the determining factor in how different rooms are used;

D) having rooms of similar size achieves a sense of balance in the home.

10. In the writer’s view

A) whatever the size of a space it should be used for a practical purpose;

B) people should always make a statement in their use of space;

C) connecting spaces between rooms should be minimized;

D) creative use of smaller spaces has an important overall effect.

III. Read this text and decide which answer A, В, С or D, best fits each space.

Teddy bears
The history of the teddy bear goes back no further than 1903. In that year, a cartoon (11) _____ in an American newspaper showing President Theodore (Teddy) Roosevelt (12) _____ to shoot a bear cub on a hunting expedition. Soon after this, an enterprising toy shop in New York made some toy bears and (13) ____them in his shop window with a (14) ____ 'Teddy's bear'. These bears proved to be so popular that they soon sold (15) ____ and  it wasn't long before a factory was established to (16) ____ advantage of the great (17)____  for these new toys. 

At about the same time, the Steiff toy factory in Germany had introduced a (18)____ toys, made (19) ______ mohair and wood shavings, with movable heads and limbs. (20) ____ popularity of teddy bears in the USA, Steiff decided to (21)___ making these as they were modelled (22) ____ the real bears in Stuttgart zoo. It is these early Steiff bears that are now most eagerly sought (23) ____ by collectors. These days, teddy bears are a good investment for people who want to sell the later at a much (24) ____ price. However, it's obvious that most teddy bear lovers them for (25) ____ rather than profit.
11. A) remarked

B) approached

C) appeared

D) reported 

12. A) defending

B) reversing


C) denying 
          D) refusing

13. A) displayed

B) published

C) introduced
D) demonstrated

14. A) said


B) wrote


C) spoke

D) named


15. A) out
  

B) up



C) off


D) away 


16. A) take


B) find


C) make

D) get

17. A) claim


B) order


C) demand

D) request


18. A) grade


B) chain


C) kind

D) range

19. A) along with

B) down from

C) up for

D) out of 

20. A) Given

B) As



C) Although

D) Since

21. A) enter


B) put



C) set


D) begin

22. A) on


B) at



C) with

D) in

23. A) through

B) to



C) after

D) for

24. A) hotter

B) harder


C) heavier

D) higher

25. A) charm

B) purpose


C) choice

D) pleasure

IV.  For questions 26-37, read the text below. Use the word given in capitals at the end of each line to form a word that fits in the space  in the same line.  

Adventure holiday
	Some people find a normal holiday boring and uninteresting.
	

	The (26) ….. of lying on a beach doesn’t seem  
	THINK

	(27) ….. at all. By offering experienced travelers the 
	ADVENTURE

	opportunity to visit and explore old (28) …. sites, ancient 
	RELIGION

	(29) ….. temples and picturesque villages, in dramatic,
	MYSTERY

	(30) …..   regions, many travel companies are now attracting 
	MOUNTAIN

	large numbers of tourists.  (31) …. such as Laos, Cambodia
	DESTINED

	and Vietnam, which have (32) ….. been considered places
	TRADITION

	unsuitable for peaceful, (33) …. family holiday, have now
	ENJOY

	become very popular. Yet for those used to (34) ….   and
	LUXURY

	expensive (35) ….. these holidays may turn out to be rather
	ACCOMODATE

	(36)  …..  as the hotels are simple and the only  transport
	DISAPPOINT

	available is very basic indeed. 
	


V. For questions 37-51, read the text below and look carefully at each line. Some of the lines are correct, some have a word which should not be there. If a line is correct, put a tick (√) by  the number in the answer list (box). There are two examples at the beginning (0 and 00)

My First Flight
0.  The first time I ever went in an aeroplane was on a flight from

√  (пример)
00. Chicago to Los Angeles. I was only at six years old, and


at  (пример)
37. found the idea of flying extremely exciting and a little bit
38.  scary. I remember have looking at the plane standing on the
39.  runway, and not in believing that it would be able to take off.
40.  It looked far very too heavy! When we took off, I was terrified
41.  at first and kept my eyes so tightly shut. But once we were in
42.  the air, I became curious and found out the courage to look
43.  out of the window. I was instantly fascinated. The view
44.  below of me looked like a postcard, with all the tiny fields and
45.  towns. Looking closely, I could even make out tiny cars
46.  traveling along the roads. But the most best thing about the
47.  flight was when I was been invited to go and see the cockpit.
48.  The view from there it was amazing, and the pilot explained to me
49.  what some of the complicated controls were for. I'm got used
50.  to flying now, and it's not nearly so much as fun, but the first time
51.  was an experience I will never forget.
VI. Read the sentences and decide which answer A, B, C, D best fit each blank.
52. The Beautmont theatre has a seating _____ of 1000.
a) capacity

b) range

c) space

d) size 

53. “Didn’t Sylvia _____ that she saw me at the seminar yesterday?”
a) relate

b) narrate

c) mention 

d) tell 

54. The management decided to _____ the deadline by one week.
a) extend

b) stretch

c) enlarge 

d) develop 

55. He managed to _____ the list of candidates down to three.
a) limit

b) decrease

c) tighten 

d) narrow

56. She got _____ of her old furniture when she moved to her new house.
a) free

b) rid


c) clear 

d) away 

57. Make sure you take _____ of warm clothes with you.
a) enough

b) plenty

c) many 

d) great 

58. He was born in France but _____ in South Africa.
a) produced

b) raised

c) grown 

d) developed

59. The economy needs more _____ if it is to grow.

A) investigation;
B) insurance;
C) encouragement;
D) investment

60. All employees were requested to _____ the meeting.
a) appear

b) attend

c) arrive 

d) see
61.  Her encouragement and support gave me the _____ to carry on.

A) force;

B) warmth;

C) strength;


D) purpose

VII. Choose the correct item.

62. If you’d run faster, you _____ the bus.
A) should’ve caught
B) wouldn’t catch 
C) could’ve caught   D) might catch
63. The work _____ by next week so we'll be free to do what we want.
A) will be finished;

B) are finishing;

C) will have finished; 
D) will have been finishing

64. I prefer furniture made of ______ wood, don’t you?

A) a;



B) the;

C) some:


D) –

65. Would you like _____ another piece of cake?

A) have also;

B) having;

C) that you have;

D) to have

66. “Do you remember the things we _____ to do when we were kids?” – “Of course I do. How could I forget what fun we had!”
A) used;


В) were used;
С) got used

67. I am going to bed as soon as the film ____

A) finished;

B) is finishing;
C) finishes;

D) will finish

68. There _____ be an election this year, but I’m not sure.

A) must;

B) might;

C) ought;

D) should

69. In the end he _____ to go to the library because he found all the information that he wanted on the web.

A) need have;
B) needn’t;

C) need;

D) didn’t need
70. _____ that five people died in the explosion.

A) They are reported;
B) It has reported;

C) It’s reported;
D) It’s reporting

71. I was coming home I met my old English teacher.
A) During;

В) While;

С) Before;


D) Since
72. We’d like to make the spare room _____ a child’s bedroom.

A) to;


B) up;


C) into;


D) for

73. It ____ heavily all week and the roads are wet and slippery.

A) had rained;
B) is raining;
C) has been raining;
D) rains

74. Johnny ____ the paper when I interrupted him.
A) read;

B) reads;

C) was reading;

D) were reading

75. They _____ here for three years before they moved.
A) live;

B) have lived;
C) had lived;

D) have been leaving

76. They never go skiing and _____ .
A) I haven’t too;
B) I don’t either;
C) I do neither;

D) I haven’t either
77. You're having an operation next week, _____?

A) isn’t it;

B) don’t you have;
C) don’t you;
D) aren’t you
78. I didn’t know he was married ____ Barbara. 
A) with;

B) to;


C) in;



D) of

79. Sally doesn’t cut her hair. She _____ at the hairdresser’s.
A) cuts it;

B) has cut it;
C) has it cut;

D) gets it

80. Did you know that Hannah ____ forty next October?
A) is going to be;
B) will have been;

C) will be;

D) has been 
